PARTS LIST
ITEM STOCK NO. DESCRIPTION QTY.
1 |3595601-0000 FRONT BAY ASSY,ACZ-350,TL-3 1
ACZ-350-TL3
(ANCHORLESS CRASH CUSHION CONSTRUCTION ZONE) 2 ]3595602-0000 REAR BAY ASSY,ACZ-350,TL-3 1
3 [3595608-+000 NOSE,ACZ-350,* 1
4 [TRANSITION TRANSITION ASSY 1

* STRIPING PATTERN

REAR BAY FRONT BAY
\ \
ninin @] L0 O ninin (@] N .
i Tl i ] [ i T — : & :
Q| Q Q QQ
<
9.62 m [31-6 1/2"] i
=
=
S
N~
0
4
[. \ 1 /l X 1) |“‘= e ———— 'g
) S e | SSSSSSSSSSSSSee———————=—=== =
(o X I T P —T o J— | R— ¢ J— 2
) 1S
== T N T N T N T N )
— = — [ 0 o ]
NOTES:
1. THE DIPICTED ACZ-350 WITH TRANSITION IS A NARROW, NON-REDIRECTIVE, GATING CRASH CUSHION. IT HAS BEEN CRASH
TESTED FOLLOWING THE GUIDELINES IN NCHRP 350 TL-3 (100 km/h). IT'S IMPACT PERFORMANCE IS SIMILAR TO A SAND-FILLED
INERTIAL BARREL ARRAY. AS A CONSEQUENCE, CARE MUST BE USED IN IT'S APPLICATION IN THE FIELD. THE ACZ-350 CAN
BE USED TO PROTECT PORTABLE (UNANCHORED) OR PERMANENT (ANCHORED) CONCRETE BARRIER AT SITES WHERE THE
CHANCE OF HIGH ANGLE, HIGH SPEED IMPACTS IS LOW. WHEN THESE TYPES OF ANGLED IMPACTS MAY OCCUR, A REDIRECTIVE
CRASH CUSHION, SUCH AS THE QUADGUARD SYSTEM, SHOULD BE CONSIDERED.
2. SEE THE ACZ-350 MANUAL FOR A DESCRIPTION OF ITS IMPACT PERFORMANCE CHARACTERISTICS AND DESIGN LIMITATIONS
BEFORE PLACING A SYSTEM AT A GIVEN SITE. IMFORMATION AND ADDITIONAL COPIES OF THE ABOVE MANUAL ARE
AVAILABLE BY CALLING CUSTOMER SERVICE DPARTMENT AT (312) 467-6750 OR (888) 323-6374.
DRAWN: DATE: - —7
- / ENERGY ABSORPTION sYSTEMS, INC.
D. Hayes Jr 2/26/2009 \'E ENGINEERING AND RESEARCH DEPARTMENT
DESIGNED:! DATE: e
A. Cox 12/19/2008
CHECKED: DATE:
J. Espinoza 3/13/2009
P APPROVED: DATE: -
Revision Date | Rev | By [Chk.[ App. A Cox 3/13/2009 ANCHORLESS CRASH CUSHlON,TL 3
ACZ350-TL3.idw
SCALE: DRAWING: SHEET: REV
NEXT ASSEMBLY: NTS AC2350'TL3 1 Of 1 -




PARTS LIST
ITEM STOCK NO. DESCRIPTION QTY.
1 2795617-0000 TRANSITION,QUEBEC BARRIER,ACZ-350 1
2 3595609-0000 TRANSITION ADAPTOR ASSY,QUEBEC BARRIER,ACZ-350 1
3 2704091-0000 NUT,HX,3/4,G 4
4 2708201-0000 WASHER,LOCK,3/4,G 4
5 2699241-0000 ROD,THREADED,3/4X12,G5,G 1
6 2708081-0000 WASHER,FLAT,3/4X2,HVY,G 4
7 2700731-0500 ROD, THREADED,3/4X18,G5,G 1
8 3595610-INST INSTALL INSTRUCTION,ACZ-350 1
9 2750902-2000 MANUAL,INSTAL-MAINT,ACZ-350 1
10 |2735831-3500 MATERIAL SAFETY INFORMATION NOTICE 1

PCMB

/ACZ-35O
/ACZ-35O

NOTES:

1. SLIDE THE TRANSITION ADAPTOR (ITEM 2) OVER THE MALE END
OF THE P/CMB. VERIFY THE TWO ALL THREAD RODS ARE
POSITIONED TO PASS THROUGH THE TRANSITION AS THE
TRANSITION IS MOVED TOWARD THE BARRIER.

2. EVENLY TIGHTEN THE 2 SETS OF NUTS, LOCK WASHER, AND
FLAT WASHER (ITEMS 3,4 & 6) ENSURING THE TRANSITION IS SNUG AGAINST
THE BARRIER.

3. USE THE TRANSITION AS A TEMPLATE, DRILL TWO 22MM
[7/8"1 HOLES THROUGH THE BARRIER.

4. INSERT THE %" THREADED RODS (ITEM 5 & 7) AND FASTEN THE NUTS,
LOCK WASHERS AND FLAT WASHERS. TRIM THREADED ROD
AFTER INSTALLATION TO BARRIER ENSURING ROD DOES
NOT EXTEND MORE THAN 3mm [1/8"] PAST SECURED NUT.
TOUCH UP WITH COLD GALVANIZING.

5. COMPLETE SYSTEM INSTALLATION AS SPECIFIED IN THE

ACZ-350 MANUAL. ASSEMBLY NO. 3595610-0000

DRAWN: DATE: e
A. COX 2/20/2009 = / ENERGY ABSORPTION sYSTEMS, INC.
—— — @ ENGINEERING AND RESEARCH DEPARTMENT
A. COX 2/20/2009
CHECKED: DATE:
B. KORNOW 2/26/2009
Revision Date | Rev | By |Chk/|App. o OMPSON 12612009 TRANSITION ASSY,QUEBEC BARRIER,ACZ-350
ADDED ITEM 10 & NOTES, ITEM 5 WAS: 31300l A Iwwilamel A :
2699941-0000. 8 WAS 3595612-INST & RESIZE DWG FILE
3595610-0000.idw INSTRUCTIONS P/N: 3595610-INST
SCALE: DRAWING: SHEET: REV
NEXT ASSEMBLY: 3595610-0000 1 of 1 A




= A =

i aN Ah

ASSEMBLY NO. 3595608-0000

NO STRIPING

NEXT ASSEMBLY:

MATERIAL:

ASSEMBLY NO. 3595608-1000

TRAFFIC PASSES ON THE RIGHT

SEE PARTS LIST ToTLoéRAA'\lCGTﬁJémL: * :tl 1/16 PARTS LIST
TOLDECIMAL: XX + .01 | ITEM STOCK NO. DESCRIPTION QTY.
DO NOT SCALE DRAWING O Ees orerss secren |1 [3595603-0000 NOSE ASSY,ACZ-350,TL-3 1
2 2712041-0000 TAPE,4,BLACK *
* SEE TABLE
Table

ASSEMBLY NO DESCRIPTION QTY (ITEM 2)
3595608-0000 NOSE,ACZ-350,NO STRIPING 0
3595608-1000 NOSE,ACZ-350,4" STRIPING,BLACK,R 7.5
3595608-2000 NOSE,ACZ-350,4" STRIPING,BLACK,L 7.5
3595608-3000 NOSE,ACZ-350,4" STRIPING,BLACK,G 8

ASSEMBLY NO. 3595608-3000

TRAFFIC PASSES ON BOTH SIDES

ASSEMBLY NO. 3595608-2000
TRAFFIC PASSES ON THE LEFT

ASSEMBLY NO. SEE TABLE

:f'/' /) ENERGY ABSORPTION sv¥STEMS, INC.
ENGINEERING AND RESEARCH DEPARTMENT

Revisions

ECO

Date

ReV|

By

Chk.

App.

Q.C.

DRISVYNHayes Jr DA;/18/2009
DEIE(.SNIs/[I)ortensen DA;/16/2009
CHJE.CKIEEDspinoza DA;/18/2009

T.Ovéi)x DA;/18/2009
ac GATE

NOSE,ACZ-350,4" STRIPING,BLACK

UNLESS OTHERWISE NOTED, ALL DIMENSIONS ARE IN INCHES

DIMENSIONS ACCORDING TO ASME Y14.5M-1994 UNLESS
OTHERWISE SPECIFIED.

[DRAWING: [SHEET: REV
B—@} 3595608-0000 ’7 1 of 1 -




	ACZ350-TL3.pdf
	3595610-0000.pdf
	3595608-0000.pdf

